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OPTION - A

( Plant Anatomy and Embryology )
Paper : BOT-HG-4016/BOT-RC-4016
1. Answer very briefly : . 1x7=7
oS 53 Tl Al ¢ S

(@ What is the ohly living cell present in-
xylem tissue ? ’

GRS 99 @I GiFS @7 2

(b) Write the type of vascular bundle in
dicot root.

B-Toed) D Fee (ol AR
CRGL I

(c) Who discovered the process of double
fertilization ?

fe-srdiym ofFm @R wifder sRiwe?
(d) Whét type of fruit does not bear seeds ?
& 91 T S 4_9 A R TEe?

. (e) - What type of endosperm is found in
wheat ? "

(Ima=S & 47T LA (o W2
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() What is cambium ?

R /2

. (g9 What are sunken stomata ?

ERIEECIMTERIGIERSE:

2.  Write briefly : 2x4=8
SIS foral ¢ |
| (a) Quiescent centre (Rfgx @ﬁ)
(b) Parachute mf_:cﬁanism of seed dispersal
TNe RERER (F=RE TP -
(c) Embryo sac (F4R)
‘(d) Annual rings (%)
3. Answer any three of the following : |
| 5%3=15
woTS TEd I R ol Tew Frare

(a) Difference between the internal
~ structure of dicot and monocot stems.

BT W CTEId O el
SRR 2177 AL |
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(b) Write briefly on heartwood and sap-
wood.

AT T TE R IS T TT Tl |
(c) Anatomical features of xemophytes.

TT T Sreresid 5164 |

(d) Describe the important theories
. relating to the organisation of root
 apex. |

T TR TS Eio® g TSATTE
91 T4 ‘

(¢ What is double fertilization ? Write
briefly about the significance of double
fertilization.

fa-Reaos ﬁw fa-fReap SledPE 530
feran

4. Answer any three of the following :
10x3=30

Wfﬁmﬁwmr%ﬁmwﬁmo

(a) What is meristematic tissue ? How are
they cla331ﬁed ? Write briefly about
them. 2+2+6= 10

Sios 41 52 TR EARee @EE w0
zq? Ared REm s & -
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(b) Describe the extrastelar sec_:on'dary
growth in dicots with suitable

illustration. Distinguish between
fascicular and interfascicular
cambium. - 7+3=10

m%wamm@ma&@@ﬂ
GTegfd M = (il =R 201R-

wf%mamﬁwmwwonw
ferl | |

- (¢) Describe about the contrivances for
cross pollination in plants.

ZSR AROICIR AR TRTS 3 FHEPTR
3l =01

(d) How are functional megaspore and
embryo sac formed ? Describe various
types of embryo sac developments in
anglosperms with neat diagram. )

| 2+8= 10

IS FIRY S TR @S 0N T2
Ao Tfegne [Rfen oot digig erém~
.mmmmmn

~ (e) What is permanent tissue ? Describe
different types of simple tissues with
neat diagram. 2+8=10
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mﬂwﬁsémﬁ@mww.
Fefet faan

(/ What is polyembryony ? Who first
reported the phenomenon of
polyembryony ? Discribe briefly about
the cleavage polyembryony with neat
diagram. ' 2+1+7=10

Foorel B2 (I AT @Eerel (A
TRt B Ie=roir Baerz Idq 41|
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OPTION-B

'~ (Economic Botany and
Plant Biotechnology)

Paper : BOT-HG-4026
1. Answer the following questions 1x7=7
(a)) What is the scientific name of gram ?
HAR [FRFS A G2

() What is the main alkaloid found in
- black pepper ?

GEPe (AR I3 «ﬂaaﬂai@ ﬁaaam %mrn
" (¢) Groundnut belongs to which family ?
SRS (PR (ol oS 2

(d) Who is known as father -of tlssue
~ culture ? .

TATLR T ﬂﬁ IE Gl r:mv
(e) What is gynogenesis ?
() Write the full form of RFLP.
SIETOLICC R A ﬂ'“pi‘fm fEr |
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(g9 What is DNA fingerprinting ?
fo.am.q. fesifafo: fee

2. Answer the following questions briefly :
2x4=8

were fral ez b fevi s
(a) What is endo‘sperm_ culture ?
SRACAE T e
(b) What is blotting tecimiqﬁe ?
IR ofw 2
. .(c)' What is RAPD marker ?
R e e
(d) What is ELISA test ?
‘aferer’ w<SrE e
3. Write short notes on .the following : {&ny
three) o5x3=13

oot AR esie by O/ = ¢ (Ricmar
fefabt) | |
(a) Origin and economic importance of

Soybean
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aIRmR Tesife wiR: wdtifor ey

(b) Scientific names and uses of clove and
- black pepper

TR T TR ([AS A AP JIYITE -
(c)l Micropropagation |

THERGA

(d) DNA fingerprinting technique and its
uses o -

Rgra.  fRomRrr  aFm == =W_
(e) Reverse tran‘scriptase—‘—PCR-

Rt @iy — R Bom.

4. Answer the following questions : 10x3=30
wers fual e T ol 8

(a) Deﬁné_ centre of origin. Describe
Nikolai Vavilov’s centres’ of origin with
examples of the crops. . 1+9=10

TerifRR (HEEE @ ol | FeiE o e
. TR (THEETR *PUR SRR fe |
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Or / &qf

Discuss the centre of origin, scientific
name, processing and uses of tea.

1+1+5+3=10
Bz = SedfeR  (FmTE, (IRWP I,
Fgeddd AfFN WP IR/IY] [F@ =EwAl
Efl '

.(b) Describe the in vitro pathways of
grnogenems and their application. |

6+4=10
@W%@Iﬁ'ﬁ ARSTIZ S 2N JIYHR
R =fq =111
Or / &3<1

" Describe the process of embryo culture
and their practical application.

e WWWWWW
aﬁ?ﬁnl

(0 What is SDS-PAGE technique ?
. Describe the southern and northern

~ blotting techmques in electophoresis.
1+9=10

a5 5.5 QD =S T2 whEd o T |
AT AT TR 30
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Or / q<

Describe the molecular DNA markers
— RAPD, RFLP and SNPs.

S fS.gm.q. IR — w9548, we.aw.
977, SR 5. T R
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